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2.4-3 Edwards and Penney

f:=unapply (y+1, (x,¥)):

Y :=y0+h*£f (x0,y0) ;

"> # Group 3, plot.

> # 2.4-3(h=0.25) Euler. Group 1, initialize.

| x0:=0: y0:=1: h:=0.25: Dotsl:=[x0,y01}:
> # Group 2, repeat 2 times. Euler's method

x0:=x0+h:y0:=Y:Dotsl:=Dotsl, [x0,v¥0];

Y =2.1250

Dotsl =[0, 1], [.25, 1.501, [ .50, 2.12501

plot([Dotsl],title="y'=y+l, y(0)=1, h=0.25");

y=y+1, y(Q)=1, h=0.25

f:=unapply(y+1, (x,y)):

3 x0:=0: y0:=1: h:=0.1: Dots2:=[x0,vy0}:

"> # Group 2, repeat 5 times. Euler's method
Y :=y0+h*f (x0,y0) ; '
x0:=x0+h: y0:=Y: Dots2:=Dots2, [x0,y0]};

"> # 2.4-3(h=0.1) Euler. Group 1, initialize.
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Y :=222102

> # Group 3, plot.

2.21
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Y :=2.22102
4

Dots2 =[0,1],[.1,1.2],[ .2, 1.42],[.3, 1.662], [ .4, 1.9282], [ .5, 2.22102]

plot([Dots2],title="y'=y+1, y(0)=1, h=0.21");

y=y+1, y(0)=1, h=0.21
-
/
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C> 4 Exact solution at x=1/2 .
exacty:=unapply (2*exp(x)-1,x): evalf (exacty(1/2));
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